
R(27) (mod 13)

blocks defect matrix

G : 1 1 8× 2
2 1 8× 2
3 0 7411 = χ3, ϕ3

4 = 3 0 7412 = χ4, ϕ4

5 0 14431 = χ5, ϕ5

6 = 5 0 14432 = χ6, ϕ6

7 0 21841 = χ7, ϕ7

8 = 7 0 21842 = χ8, ϕ8

9 0 138321 = χ9, ϕ9

10 0 138322 = χ10, ϕ10

11 0 138323 = χ11, ϕ11

blocks defect matrix

12 0 138324 = χ12, ϕ12

13 0 138325 = χ13, ϕ13

14 0 138326 = χ14, ϕ14

15 0 182781 = χ15, ϕ15

16 0 182782 = χ16, ϕ16

17 0 182783 = χ17, ϕ17

18 0 182784 = χ18, ϕ18

19 0 269361 = χ33, ϕ21

20 0 269362 = χ34, ϕ22

21 0 269363 = χ35, ϕ23

Block 1: ϕ1 ϕ20

11 = χ1 1 .
196831 = χ20 . 1
196841 = χ21 1 1
196842 = χ22 1 1
196843 = χ23 1 1
196844 = χ24 1 1
196845 = χ25 1 1
196846 = χ26 1 1

ϕ1 = 11
ϕ20 = 196831

Block 2: ϕ2 ϕ19

7031 = χ2 1 .
189811 = χ19 . 1
196847 = χ27 1 1
196848 = χ28 1 1
196849 = χ29 1 1
1968410 = χ30 1 1
1968411 = χ31 1 1
1968412 = χ32 1 1

ϕ2 = 7031
ϕ19 = 189811


